
ŝ

$%675$.

6DVNLD�5DPDGDQL �7LQMDXDQ�.HSXDVDQ�.RQVXPHQ�.$,�$FFHVV�DWDV�
3HQHUDSDQ� (�6HUYLFH� 4XDOLW\ 3DGD� 37�� .HUHWD�
$SL�,QGRQHVLD��.$,��&DEDQJ�3DGDQJ

3HPELPELQJ �<XQLWD�(QJULDQL�6(�0�0

7XMXDQ� GDUL� SHQHOLWLDQ� LQL� DGDODK� XQWXN�PHOLKDW� WLQJNDW� NHSXDVDQ�
\DQJ�GLUDVDNDQ�ROHK�NRQVXPHQ�GDODP�PHQJJXQDNDQ�DSOLNDVL�.$,�$FFHVV�
GHQJDQ�SHQHUDSDQ�(�6HUYLFH�4XDOLW\��.$,�$FFHVV�VXGDK�ELVD�GLJXQDNDQ�GL�
.RWD�3DGDQJ�XQWXN�SHPHVDQDQ�WLNHW�NHUHWD�DSL�VHFDUD�RQOLQH VHMDN�WDQJJDO�
�� PDUHW� ����� GHQJDQ� GLOHQJNDSL� PHQX� /RFDO� WUDLQ SDGD� DSOLNDVL� .$,�
$FFHVV�

-HQLV� SHQHOLWLDQ� LQL� PHUXSDNDQ� SHQHOLWLDQ� GHVNULSWLI� GHQJDQ�
PHODNXNDQ� REVHUYDVL� VHFDUD� ODQJVXQJ� GDQ� PHODNXNDQ SHQ\HEDUDQ�
NXHVLRQHU�NHSDGD���� UHVSRQGHQ�\DQJ�PHUXSDNDQ�SHQJJXQD DSOLNDVL�.$,�
$FFHVV� GL� .RWD� 3DGDQJ�� 'DUL� KDVLO� SHQHOLWLDQ� PHQXQMXNNDQ� EDKZD�
3HOD\DQDQ� (OHNWURQLN� \DQJ� GLEHULNDQ� ROHK� DSOLNDVL� .$,� $FFHVV� NHSDGD�
3HODQJJDQ� &XNXS� 7LQJJL GHQJDQ� 7LQJNDW� &DSDLDQ� 5HVSRQGHQ� VHEHVDU�
��������2OHK�NDUHQD�LWX�37��.$,�DJDU GDSDW�PHPSHUWDKDQNDQ�3HOD\DQDQ�
(OHNWURQLN�\DQJ�GLEHULNDQ�NHSDGD�SDUD�SHQJJXQD�DSOLNDVL�.$,�$FFHVV�
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